MODULAR ASYMMETRIC SYNTHESIS OF 1,2-DIOLS BY SINGLE-POT
ALLENE DIBORATION/HYDROBORATION/CROSS-COUPLING.

Nicholas F. Pelz and James P. Morken™
Department of Chemistry, Venable and Kenan Laboratories
University of North Carolina, Chapel Hill, NC, 27599-3290

Supplementary Material

General. '"H NMR spectra were recorded on Bruker DRX 300 or 400 MHz spectrometers.
Chemical shifts are reported in ppm from tetramethylsilane with the solvent resonance as the
internal standard (CDCl;: 7.24 ppm). Data are reported as follows: chemical shift, integration,
multiplicity (s = singlet, d = doublet, t = triplet, q = quartet, p = pentet, h = hextet, br = broad,
m = multiplet), coupling constants (Hz) and assignment. 3C NMR was recorded on a Bruker
400 MHz (100 MHz) spectrometer with complete proton decoupling. Chemical shifts are
reported in ppm from tetramethylsilane with the solvent as the internal standard (CDCl;: 77.0
ppm). Low-resolution mass spectrometry was performed by the University of North Carolina,
Department of Chemistry Mass Spectrometry Facility. Infrared (IR) spectra were obtained on
an ASI ReactIR 1000.

Liquid chromatography was performed using forced flow (flash chromatography) on silica
gel (SiO,, 230 X 450 mesh) purchased from Sorbent Technologies.  Thin layer
chromatography was performed on 250 pum silica gel plates from EMD Chemicals Inc.
Visualization was achieved using UV light, phosphomolybdic acid in ethanol, potassium
permanganate in water, or cerium sulfate and ammonium molybdate in sulfuric acid, each
followed by heating.

Analytical supercritical fluid chromatography (SFC) was performed on a Berger

Instruments supercritical chromatograph equipped with an Alcott autosampler and a Knauer
UV detector.
All reactions were conducted in oven or flame dried glassware under an inert atmosphere of
nitrogen or argon. Toluene was distilled over CaH, and degassed by freeze-pump-thaw cycles
prior to use. Pdy(dba); and tricyclohexylphosphine were purchased from Strem Chemical
Company. Aromatic and vinylic halides were purchased from Aldrich and distilled prior to
use. Phenyl triflate was purchased from Aldrich and used without prior purification.
Bis(pinacolato)diboron was purchased from BASF. [(R,R)- xylylITADDOL]PNMe, was
synthesized according to the literature (Woodward, A. R.; Burks, H. E.; Chan, L., K., M.;
Morken, J. P. Org. Lett. 2005, 7, 5505). Allenes were synthesized according to the literature
(Vermeer, P.; Meijer, J.; Brandsma, L. Recl. Trav. Chim. Pays-Bas 1975, 94, 112.). Acetic
anhydride was purchased from Fisher Chemical and distilled under N,. Starting material
4,4,5,5-tetramethyl-2-(4-phenyl-3-(4,4,5,5-tetramethyl-1,3,2-dioxaborolan-2-yl)but-1-en-2-yl)-
1,3,2-dioxaborolane was synthesized via known protocol (Pelz, N.F.; Woodward, A.; Burks,
H.; Sieber, J. J. Am. Chem. Soc. 2004, 126, 16328). Commercially available hydroborating
reagents were used without further purification. Dimeric 9-BBN was purchased from Aldrich
as a white crystalline solid. BH3; SMe, was purchased as a solution in excess dimethylsulfide
from Aldrich. All other reagents were purchased from either Fisher or Aldrich Chemical
Companies and used directly.

Page SI- 1



Procedure for Hydroboration/Oxidation/Acylation with 9-BBN (Scheme 2).

An oven-dried 2-dram vial equipped with a magnetic stir-bar was charged with 76 mg
(0.198 mmol) of 4,4,5,5-tetramethyl-2-(4-phenyl-3-(4,4,5,5-tetramethyl-1,3,2-dioxaborolan-2-
yl)but-1-en-2-yl)-1,3,2-dioxaborolane and 1 mL of toluene in a dry-box under an argon
atmosphere. To this was added 27 mg (0.109 mmol) 9-BBN dimer. The vial was then sealed,
removed from the drybox and stirred at ambient temperature for 14h. The vial was then cooled
to 0 °C before the addition of 0.75 mL tetrahydrofuran, 0.75 mL 3M NaOH, and 0.75 mL H,0O,
(30% solution by weight). The oxidation was stirred at 0 °C for 1h, and allowed to slowly
warm to room temperature and stir for an additional 8 h. After this time period, the reaction
was quenched with saturated aqueous sodium thiosulfate and transferred to a separatory funnel
for extraction. The aqueous layer was acidified to pH 4 and extracted with ethyl acetate five
times. The organics were combined, washed with brine, dried over sodium sulfate, and
evaporated to dryness. The resultant crude material was then transferred to a flame dried 6
dram vial and evaporated to dryness. The vial, equipped with magnetic stir bar, was then
charged with 14 mg (0.12 mmol) dimethylaminopyridine, 0.8 mL dry dichloromethane, and 1
mL triethylamine. The vial was sealed with a septum and cooled to 0 °C under an atmosphere
of nitrogen for the addition of 280 uL (2.97 mmol) acetic anhydride. The reaction was held at
0 °C for 1 h and allowed to warm to room temperature and was stirred overnight. TheThe
reaction was evaportated to dryness and passed through a pad of silica gel using 10:1
hexanes:ethyl acetate as the eluent. After concentration, a 'H NMR spectrum was obtained for
diastereomer ratio determination. Silica gel chromatography (hexanes/EtOAc) of this mixture
afforded 37 mg (62 %) of pure 4-phenylbutane-1,2,3-triyl triacetate as a yellow oil.

Procedure for Hydroboration/Oxidation/Acylation with BH3eMe,S.

An oven-dried 2-dram vial equipped with a magnetic stir-bar was charged with 50 mg
(0.14 mmol) of 4,4,5,5-tetramethyl-2-(4-phenyl-3-(4,4,5,5-tetramethyl-1,3,2-dioxaborolan-2-
yl)but-1-en-2-yl)-1,3,2-dioxaborolane and 0.6 mL of toluene in a dry-box under an argon
atmosphere. The vial was then sealed with a septum, removed from the drybox and stirred at
ambient temperature for the addition of 14 mg (0.18 mmol) of borane-dimethyl sulfide
complex. The reaction was allowed to stir for 14 h. The vial was then cooled to 0 °C for alkali
peroxide oxidation. The reaction was treated with 0.75 mL tetrahydrofuran, 0.75 mL 3M
NaOH, and 0.75 mL H,0, (30% solution by weight). The oxidation was stirred at 0 °C for 1h,
and allowed to slowly warm to room temperature and stir for an additional 8 h. After this time
period, the reaction was quenched with saturated aqueous sodium thiosulfate and transferred to
a separatory funnel for extraction. The aqueous layer was acidified to pH 4 and extracted with
ethyl acetate five times. The organics were combined, washed with brine, dried over sodium
sulfate, and evaporated to dryness. The resultant crude material was then transferred to a flame
dried 6 dram vial and evaporated to dryness. The vial, equipped with magnetic stir bar, was
then charged with 14 mg (0.119 mmol) DMAP, 0.8 mL dry dichloromethane, and 1vmL
triethylamine. The vial was sealed with a septum and cooled to 0 °C under an atmosphere of
nitrogen for the addition of 280 uL (2.97 mmol) acetic anhydride. The reaction was held at 0
°C for 1 h and allowed to warm to room temperature. After stirring 14 h, the reaction was
evaporated to dryness and passed through a pad of silica gel using 10:1 hexanes:ethyl acetate
as the eluent. After evaporating to dryness, a 'H NMR was taken for diastereomeric analysis.

Procedure for Sequential Diboration/Hydroboration/Cross-Coupling (Table 1 and 2).

An oven-dried 2-dram vial equipped with a magnetic stir-bar was charged with 6 mg
(0.007 mmol) of Pdydbas, 11 mg (0.017 mmol) [(R,R)- xylyITADDOL]PNMe,, and 1.4 mL
toluene. The catalyst was allowed to stir for 45 minutes before the addition of 84 mg of

Page SI- 2



Ba(pin); (0.33 mmol), and 50 mg allene. The vial was then sealed and stirred at ambient
temperature for 14 h. At the end of that time period 44 mg (0.18 mmol) dimeric 9-BBN was
added and the hydroboration sealed and stirred for 9 h. The vial was then charged with 203 mg
Cs2C0;5(0.623 mmol) and 127 mg PhI (0.623 mmol). The vial was then sealed, removed from
the drybox, and 100 mg H,O (5.54 mmol) was added before resealing, and taping the reaction
vial. The reaction was then placed in an 80 °C oil bath and allowed to react for 12 h. After the
allotted time, the reaction was cooled to room temperature for alkali peroxide oxidation. The
reaction was treated with air for the addition of 1.5 mL tetrahydrofuran, 1 mL 3M NaOH, and
1 mL H,0, (30% solution by weight). The oxidation was stirred at 0 °C for 1h, and allowed to
slowly warm to room temperature and stir for an additional 8 h. After this time period, the
reaction was quenched with saturated aqueous sodium thiosulfate and transferred to a
separatory funnel for extraction. The aqueous phase was extracted with ethyl acetate three
times. The combined organics were then washed with brine, dried over magnesium sulfate,
and evaporated to dryness. After evaporation, a 'H NMR was obtained to determine
diastereomer ratios. Silica gel chromatography (dichloromethane/ether) of this mixture was
then employed for purification.

Page SI- 3



OAc

OAc

OAc

4-Phenylbutane-1,2,3-triyl triacetate (Compound SI-6). 19 mg
of a yellow oil. Ry=0.42 in 2:1 hexanes:ethyl acetate. IR (CHCI5)
2956 (m), 1748 (s), 1497 (m), 1457 (m), 1372 (s), 1268 (s), 1063
(m), cm™; "H NMR: 8 7.29 — 7.14 (5 H,_.m, Ar), 5.30 (1 H, m),
5.16 (1H, m), 4.24 (1 H, dd, J = 12.0, 4.5 Hz), 4.03 (1 H, dd, J =

12.0, 6.6 Hz), 2.84 (2 H, d, I = 6.9 Hz), 2.12 (3 H, 5), 2.01 (3 H, s), 1.98 (3 H, 5); °C NMR:
170.5, 170.0, 169.9, 136.1, 129.2, 128.5, 126.7, 72.2, 70.7, 62.3, 36.9, 20.7, 20.7, 20.6. LRMS
(ESI) Calc’d for C¢H200¢ (M+Na)": 331.3 Found (M+Na)": 331.2.

Diastereoselectivity. Diastercomeric ratio was determined by 'H NMR of the unpurified

triacetate.

Portion of '"H NMR of crude esterification product as taken on Bruker DRX 400MHz

spectrometer.

I T ' I

4.4 4.2 4.0

9BBN Hydroboration

ol

1 — —
4.4 4.2 4.0

BH3zeMe;S Hydroboration

Page SI- 4



OH (2R,3R)-1-Phenyltridecane-2,3-diol (Compound SI-7). 50 mg

of a white solid. R¢= 0.26 in 20:1 dichloromethane:diethylether.

CqoH24 IR (CHCI3) 3579 (m) 2931 (s), 2856 (s), 1495 (m), 1466 (s), 1380
OH (m), 1302 (m) cm™; "H NMR: & 7.31-7.21 (5 H, m, Ar), 3.67-3.63

(1 H, m), 346(1H m) 2.85 (1 H,dd, J=13.6,4.4 Hz), 2.71 (1 H,
dd, J—136 88HZ) 2.15 (2 H, broad), 1.56-1.45 (2 H, m), 1.28-1.24 (16 H, m), 0.86 (3 H, t, J
—68Hz) 3C NMR: 138.2, 129.4, 128.7, 126.6, 75.0, 73.6, 40.3, 33.8, 31.9, 29.7 (2C), 29.3

(20), 25.7, 22.7, 14.1. LRMS (ESI) Calc’d for C1oH3,0, (M+Na)': 315.2. Found (M+Na)":
315.2.

Stereochemistry Enantiomeric excess was determined by chiral SFC of the diol in
comparison to racemic material prepared by using trlcyclohexylphosphme as the llgand The
identity of the major diastereomer was determined by '"H NMR analysis in comparison to
authentic material prepared via Sharpless dihydroxylation (Norrby, P.O.; Becker, H.;
Sharpless, K.B. J. Am. Chem. Soc. 1996, 118, 35).

Chiral SFC (Chiralpak AD-H, Daicel, 50°C,150psi, 3mL/min, 2% methanol, only the
diastereomer corresponding to the syn diol is shown)

=
=1
L]

7 32.11
(s

3
i

Asymmetric Reaction Racemic Reaction Asymmetric + Racemic

]

Page SI- 5



OH

LT

(2R,3R)-1,5-Diphenylpentane-2,3-diol (Compound SI-8). 50
mg of a white crystalline solid. Ry = 0.21 in 20:1
dichloromethane:diethyl ether. IR(CHCls) 3577 (s), 2929 (s),
2860 (m), 2360 (m), 2339 (m), 1603 (m), 1497 (s), 1455 (s),
1385 (m) cm™; 'H NMR: & 7.32-7.17 (10 H, m, Ar), 3.68 (1H,

m), 3.51 (1H, m) 2.84 (2H, m), 2.70 (2H, m), 2.17 (2H, broad), 1.85 (2H, m); °C NMR: 141.9,
137.9, 129.4 (2C), 128.7 (2C), 126.6, 125.9, 75.0, 72.9, 40.2, 35.5, 31.9. LRMS (ESI) Calc’d
for C17H200, (M+Na)™: 279.3. Found (M+Na)": 279.2.

Stereochemistry. Enantiomeric excess was determined by chiral SFC of the diol product.
Racemic material was prepared by using tricyclohexylphosphine as the ligand as described in
the general procedure. The identity of the major diastereomer was determined bycomparison
to the the syn-diol prepared via Sharpless asymmetric dihydroxylation (Norrby, P.O,; Becker,
H.; Sharpless, K.B. J. Am. Chem. Soc. 1996, 118, 35).

Chiral SFC (Chiralpak AD-H, Daicel, 50°C, 150psi, 3mL/min, 2% methanol, only the
diastereomer corresponding to the syn diol is shown)

[}
)
ai
T

&

- 4781

-
]
=13
o+

2

Asymmetric Reaction

-

—

i

VL

Racemic Reaction Asymmetric + Racemic

Page SI- 6



(4R,5R)-2-Phenylpentadec-1-ene-4,5-diol (Compound SI-9). 35

QH mg of a white solid. R¢=0.19 in 20:1 dichloromethane:diethyl

C1oHar ether. 111{ CHCI3) 3579 (m), 2929 (s), 2858 (s), 1463 (m), 1380
OH (m) cm™; H NMR: & 7.40-7.25 (5H, m), 542 (1H, d, J =1.2

Hz), 5.18 (1H, d, J = 1.2 Hz), 3.52-3.42 (2H, m), 2.82 (1H, dd, J

=144, 4.4 Hz), 2.60 (1H, dd, J = 14.4, 8.8 Hz), 2.06-1.83 (2H, broad), 1.53-1.1.4 (2 H, m),
1.29-1.18 (16 H, m), 0.86 (3 H, t, J = 6.8 Hz), 3C NMR: 144.9, 140.1, 128.3, 127.6, 126.0,
115.4, 73.6, 71.7, 39.8, 33.5, 31.7, 29.4 (2C), 29.4, 29.2(2C), 25.5, 22.5, 13.9. LRMS (ESI)
Calc’d for C,;H340, (M+Na)+: 341.4 Found (M+Na)+: 341.3.

Stereochemistry. Enantiomeric excess was determined by 'H NMR analysis of the Mosher’s
ester derivativative prepared using (S)-Mosher’s acid chloride. Authentic racemic material was

prepared by using tricyclohexylphosphine as the ligand as described in the general procedure.

"H NMR of unpurified Mosher’s ester as taken on Bruker DRX 400MHz spectrometer.

T T RARE REARAL | R
4.9 4.8 | 2.9 i.B 2.7 ppm
Racemic Product

""\L'JL«-M LI AL L
e 2.9 2.8 2.7 2.6
4.8

Asymmetric Reaction Product

Page SI- 7



OH (1R,2R)-1-Cyclohexyl-3-phenylpropane-1,2-diol ~ (Compound

SI-10). 36 mg of a white solid. Ry = 043 in 20:1
dichloromethane:diethyl ether. IR (CHCls) 3572 (m), 2929 (s),
OH 2856 (s), 2364 (m), 2339 (m), 1495 (m), 1453 (s), 1380 (m) cm™;

Major Diastereomer: 'H NMR: § 7.31-7.21 (5H, m), 3.89 (1H, m),
3.19 (1H, dd, J=7.5,3.7 Hz) 2.85 (1 H, dd, ] = 13.7, 4.5 Hz), 2.8 (1 H, dd, J = 13.7, 8.3 Hz),
1.86-1.47 (7 H, m), 1.31-0.99 (6H, m); °C NMR: 138.1, 129.2, 128.5, 126.3, 77.2, 71.3, 40.2,
39.3,29.4, 27.9, 26.0, 25.9, 25.6. LRMS (ESI) Calc’d for C 9H3,0, (M+Na)™: 257.3. Found
(M+Na)": 257.1.

Stereochemistry. Enantiomeric excess was determined by '"H NMR of the Mosher’s ester
derivative prepared using (S)-Mosher’s acid chloride. Racemic material was prepared by using
tricyclohexylphosphine as the ligand as described in the general procedure. The identity of the
major diastereomer was determined by 'H NMR analysis in comparison to authentic syn-diol
prepared via Sharpless asymmetric dihydroxylation (Norrby, P.O,; Becker, H.; Sharpless, K.B.
J. Am. Chem. Soc. 1996, 118, 35).

"H NMR of crude Mosher’s Esters as taken on Bruker DRX 400MHz spectrometer.

— e

5. ; ' ' T
0 4.8 5.0 4.9 4.8

Racemic Enantioselective

Page SI- 8



OH (1R,2R)-1,3-Diphenylpropane-1,2-diol (Compound SI-11). 44 mg
of a white crystalline solid. R¢= 0.38 in 2:1 hexanes:ethyl acetate.
O O IR(CHCl3) 3593 (s), 2927 (s), 2858 (m), 2366 (m), 2342 (m), 1603

OH (m), 1495 (s), 1455 (s), 1387 (s), 1324 (m), 1081 (m) cm™'; Major
Diastereomer: '"H NMR: & 7.42-7.15 (10H,m),451 (1H,d,J=6
Hz), 3.93 (1 H, m) 2.77-2.59 (2H, m), 2.44 (2H, broad); >C NMR: 140.1, 137.9, 129.2, 128.4,
128.3, 128.4, 126.7, 126.4, 76.1, 75.9, 37.4. LRMS (ESI) Calc’d for C;sH;0, (M+Na)":
251.2. Found (M+Na)": 251.1.

Stereochemistry. Enantiomeric excess was determined by chiral SFC analysis of the chiral
diol in comparison to authentic racemic material prepared using tricyclohexylphosphine as the
ligand. The identity of the major diastereomer was determined by 'H NMR analysis in
comparison to the authentic syn-diol prepared via Sharpless asymmetric dihydroxylation
(Norrby, P.O.; Becker, H.; Sharpless, K.B. J. Am. Chem. Soc. 1996, 118, 35).

Chiral SFC (Chiralpak AD-H, Daicel, 50°C, 150psi, 3mL/min, 2.5% methanol, only the
diastereomer corresponding to the syn diol is shown)

&
o g
¥
&
¥ ©
i
: ks
9 )
3
Rty i
Asymmetric Racemic Asymmetric+ Racemic

Page SI- 9



mg of a white crystalline solid. Rf = 0.25 in 20:1

dichloromethane:diethyl ether. IR (CHCls) 3593 (s), 3579 (s),
O 3006 (m), 2927 (s?, 2858 (m), 1603 (m), 1497 (s), 1455 (s), 1383
(s), 1088 (m) cm™; '"H NMR: & 7.32-7.19 (10 H, m), 3.74 (2 H,
m), 2.86 (2 H, dd, J = 13.6, 4.4 Hz), 2.83 (2 H, dd, J = 13.6, 8.0 Hz), 1.955 (2H, broad, OH);
C NMR: 137.9, 129.2, 128.5, 126.4, 73.8, 40.2. LRMS (ESI) Calc’d for C16H;30, (M+Na) :
265.3. Found (M+Na)": 265.2.

O oH (2R,3R)-1,4-Diphenylbutane-2,3-diol (Compound SI-12). 52

OH

Stereochemistry. Enantiomeric excess was determined by 'H NMR of the Mosher’s ester
derivative prepared using (S)-Mosher’s acid chloride. Racemic material was prepared by using
tricyclohexylphosphine as the ligand as described in the general procedure. The identity of the
major diastereomer was determined by 'H NMR analysis in comparison to authentic syn-diol
prepared via Sharpless asymmetric dihydroxylation (Norrby, P.O,; Becker, H.; Sharpless, K.B.
J. Am. Chem. Soc. 1996, 118, 35).

"H NMR of crude Mosher’s ester as taken on Bruker DRX 400MHz spectrometer.

A ¥ T T T — I . r
.6 5.4 5.2 6] 5.4 5.

Racemic Enantioselective

Page SI- 10



OH (4R,5R)-2-Methylpentadec-1-ene-4,5-diol (Compound SI-13). 33 mg

of a white solid. R¢= 0.15 in 20:1 dichloromethane:diethyl ether. IR

C10H21W (CHCl3) 3575 (m), 2929 (s), 2856 (s), 1463 (m), 1380 (m), 1090 (m)
OH cm™; "H NMR: 8 4.89 (1 H, s), 4.81 (1 H, s), 3.57 (1 H, m), 3.41 (1 H,

m), 2.23-2.12 (2H, m), 1.90-1.63 (2 H, broad), 1.76 (3 H, s), 1.51-1.41
(2H, m), 1.38-1.19 (16 H, s), 0.87-0.84 (3 H, t, ] = 6.8 Hz); °C NMR: 142.2, 113.6, 74.1, 72.0,

42.2,33.5, 31.7, 29.5, 29.4 (2C), 29.4, 29.1, 25.5, 22.5, 22.2, 13.9. HRMS (ESI) Calc’d for
C16H3,0, (M+Na)": 279.42 Found (M+Na)": 279.3.

Proof of Stereochemistry. Enantiomeric excess was determined by 'H NMR of the Mosher’s
ester derivative prepared using (S)-Mosher’s acid chloride. Racemic material was prepared by
using tricyclohexylphosphine as the ligand as described in the general procedure.

"H NMR of crude esterification as taken on Bruker DRX 400MHz spectrometer.

Racemic
F

Rum 1

Run 2

Page SI- 11



OH

C1oH21
OH

(5R,6R,Z)-3-Methylhexadec-2-ene-5,6-diol (Compound SI-14). 25
mg of a white solid. R¢= 0.16 in 20:1 dichloromethane:diethyl ether.
| IR (CHCIs) 3579 (m), 2929 (s), 2858 (s), 1457 (m), 1380 (m), 1090
(m) em™; '"H NMR: § 5.43 (1 H, q, ] = 6.8 Hz), 3.57 (1 H, m), 3.41 (1

H, m), 2.41 (1 H, dd, J = 13.2, 9.4 Hz), 2.06 (1 H, dd, ] = 13.6, 4.4

Hz), 1.71 (3H, s), 1.60 3H, d, J = 6.8 Hz), 1.510-1.409 (2H, m), 1.35-1.17 (16H, s), 0.86 (3H,
t,J = 6.8 Hz); C NMR: 131.9, 122.9, 74.0, 71.7, 35.5, 33.6, 31.7, 29.5, 29.4 (2C), 29.2, 25.5,

23.5, 23.3, 22.

5, 13.9, 13.4. LRMS (ESI) Calc’d for C7H30, (M+Na)™: 293.4. Found

(M+Na)": 293.3.

Proof of Stereochemistry. Enantiomeric excess was determined by 'H NMR of the Mosher’s
ester derivative prepared using (S)-Mosher’s acid chloride. Racemic material was prepared by
using tricyclohexylphosphine as the ligand as described in the general procedure.

"H NMR of crude Mosher’s ester as taken on Bruker DRX 400MHz spectrometer.

Raceinic

B T T T T T

514 5.3 5.2 5,1 5.0 4.
Run 1

- I | A | T T

5 5.4 53 5.2 5.1 5.0
Run 2

Page SI- 12



OH (2R,3R)-1-(4-Methoxyphenyl)tridecane-2,3-diol

(Compound SI-15). 47 mg of a white solid. R¢= 0.17 in
C1oH21 20:1 dichloromethane:diethyl ether. IR (CHCl;) 3579 (m),
OH 2929 (s), 2858 (s), 1613 (m), 1513 (s), 1465 (m), 1380 (m),

OMe 1302 (m), 1250 (m), 1177 (m) cm™; '"H NMR: & 7.13 (2 H, d,

J=8.8 Hz), 6.84 (2 H, d, J = 8.8 Hz), 3.78 (3H, s), 3.60 (1H,
m), 3.45 (1H, m), 2.82 (1H, dd, J = 14.0, 4.4 Hz), 2.66 (1H, dd, J = 14.0, 8.6 Hz), 1.82-1.55
(2H, broad), 1.55-1.48 (2H, m), 1.28-1.24 (16H, m), 0.88-0.84 (3H, t, ] = 6.8 Hz); °C NMR:
158.2, 130.2, 129.8, 113.9, 74.9, 73.4, 55.1, 39.1, 33.6, 31.7, 29.5, 29.4(3C), 29.2, 25.5, 22.5,
13.9. HRMS (ESI) Calc’d for C20H3403 (M+Na): 345.4. Found (M+Na)': 345.3.

Proof of Stereochemistry. Enantiomeric excess was determined by chiral SFC of the diol
product. Racemic material was prepared by using tricyclohexylphosphine as the ligand as
described in the general procedure.

Chiral SFC (Chiralpak AD-H, Daicel, 50°C,150psi, 3mL/min, 2% methanol, only the
diastereomer corresponding to the syn diol is shown)

58,39
58 68

P 55.75

A BN |

3
AT

62 54 56 58 60 62 64 66 68

54 56 58 60 62 64 86 68 70

Asymmetric Reaction Asymmetric + Racemic

- 54,31

g2oT

”‘“-a_[!_
% R4 GG GB G0 B2 64 66 68 70

Racemic Reaction

Page SI- 13



wiw| [w B D L Pl o)
wit|o|a|w o ojojo|- po|- =)
oo|wi~ifew w0 clwo|n|o no|- @
XIENIILNIS = Pt b TN b
Do Unfofw toa] I i) U o

d 070 80 0°T ST 02 5°¢ 0°¢ §°¢ 0y S ¥ 0°q §°g 0°9 $°9 0°L §°L 0°8

S et T Q)ﬁ

Compound SI-6

Page SI- 14

Q0°T 2d
a )
ZH QL‘d a1
[ ass
ou aqm
ZHH TLTOOET 0OY as
89LLE Is - - . . . . . . . .
sxegoumaed SUTFFRROII = 7J . .G.HQQ m m O d N uw ﬂ ...W w ﬁ w ..W O m N m ﬂ- m m m
ZHIL 8009ZET" 009 To4s | . ] 1 ! . ] . | ) ] ; | : I . ! . ! 1 |
g 600 114
oesn 0§22 e
-34 TonN .
mesmmann 13 JENNVHD owammsaw W
285 000Q0000°T Ta
A 0°E67 ar
D8N D09 2a
SeE0 000°8L Ma
. zrenpl - .
o8 gIEQ95S°T oy
2H 5795610 SEy¥aIZ
2H 9527 0T¥S HMS
z sa
9T SN’
€104 JIHEATOS
GaLTE Q%
QERZ s0ddINd O(O
ET/HTANDWRS 190  gHEOUE
ROAMLSNT
0061 BT
tETIES Teleq
Iegewuiey UOT4TITAROY ~ 24 5110)
T el ele): 4
¥ OHEXA B O(O
£L0-p Trwd ERYN

FXOIRHRINS LRV JUBLIND

quOOy WUNTOD WOd ££0°7 2Tod



wdd 0z (o] 0% 0§ 09 0L 08 06 00T 0TT 0el 0¢T 0yT 0ST 09T . OLT
..... [T P PP NPT ST PR NPT PRI PRI I I I D i N P N T |

b
ot
ks Y
=
"]
e
o]
= :
-
f—
o
0 5%
ou Mam
ZHH LZT6L6TS 00T as
89L2€ s
saejowexed Burssevold - g4
ZHH 0000008 668 zods
€p 00°02T £
° 00°02T AR S
P 00°0ZT z1d
350 007 00T zgdod
330 Zon
TOMIAdD
======= NH MRANNYHD) =coo=mssx
ZHW 8865208 66¢ 1045
€p 00" €- 114
38T 0707 1a
HT To0N
z====== HN TANNTHD ========
298 0002000070 4B
@5 000000E0°0 TP
@ 00000000° T Ta
A 07008 ek A
280 00" 9 Ha
35N QO E8 Ma
8 TL oy .
39S TT06ZEL T oY
ZH 696281 0 SEHATL
ZH 70T 5665 . HMS
z sa
91 SN
£TOAD INEATOS 1O B b0 D w e S I [ I RN I N el ol el el el = B
89LTE a ooo@ o N ON o] BB DD M B MDY N W) mmeuL
oc6 sommd ol G b bk oW SoPERLLLL L :
or QHAONE 7 gy o g - ) © MO N WL R LT S CECE SR I o O
WIEESNT o 1 po o0 ) Ul W~ o MO WaBR WU -1pR <) o U
00°6T swiy MO0 O WY W CREEY)
© TETT69 —I3eq .
3I23auRIed UOTITSTnDOY - ZJd
1 ONDOH Y0
v ONAXE
820 ¢ 2124 HREN . 9
sIYPWRIRL BIBE JUSIIND quoQy oJul Qﬂ.ﬂm 820" % z12d <O

VO

Page SI- 15



LEG €
ET6 LT
L7S"E

[ 7 =0 T
9ET°0

CLS €
760°¢

wdd
=

[

e

]

-

—

o

—

=

p—

|

|

=

= .
[ 138 od
[ 0
IH 00°0 a1
0 €ss
ou MaM
ZHR 00Z00S0° 007 ds
BILZE 15
saejewwivd Buissssoid - 74
ZHR E00WEZSO°00F 1048
P 0070 114
SeEn 0 VL Td
HT 1o08
szsssss [ TINNYHD ==ssssss
398 00000000°T 1a
q 0°E6T aL
oesn 00'9 2a
oesn 000" 8L Ma
BIT od
oes (PSES55°T ov
2H SI9S6T°0 SHHATA
IH 95T 0TPS HMS
T sa
ve SH
£10a0 ISENTOS
99LIE aL
oebz 20¥4"INd
OCT/HT dND uwsis  QHEOH
Joads RNHLSNI
35°8 SaTL
LIZOI00L “e3ug
sreqouwIed uojaTsInboy - 73
X otioodd
¥ oNdXE
850-% 2184 T

BINJIWNIVS WIWI IUSIIND

Ve &

e I N N

898°0
S88°0
00S°T
90S°1T
269°¢
?TL [

z
T—
T
~J

15870
8v¢°'1
LBT'T
Tre"T
c97°'1
S87°1T
TIS T
STS'T
LESTT
LES T

zz
......“_...L
B W
o

- —_———
COL T
i LOO'T
fé:o:’m

-~

878°¢C
6587 ¢
2887 ¢
£€68°¢C
0S7°¢€

197" ¢
697" €

quooy oFul ddns 8S0°% 2Tad

797 €
€59°¢
£€99°E

1/

7

902" L
80CZ L
02z L
g9ce L
BEZ L
ve°L
€EBZ L
€6C°L
TOE" L
9TE" L
0zZeE" L

o

HO
0

Page SI- 16



o iwdd st 0T oz o€ . 0% 05 .09 0L 08 06 00T 07T oﬁ -~ oet © O¥T . 0ST
. N .. ' . g .— , ,... . L _ _

[
. 1
—
L
= .
o
=
=
p——
]
]
b
=
o . " ‘ass
. oeu’ Mam ’
ZHN TYLIZ6S” oo._“ L as
goLee Is
mhmuwﬁmnmm mnﬂmmmuo.um = zd ~
NEE 0000050 00F Z04dS . &_
g 05'PT . £11d ©
e 05 7T . . ETId o -
gp 00°0 T S
251 00° 00T .. zaddd
330 g ©2oNN
, ZoudadD
z====== 23 IENNYHD =====c=s=
ZHH £00VESO 00¥ T04s
gp 0070 114
350 QT ve Td
HT TOON
===zmz= TF TINNVH) ========
385 000200000 gTe’
228 000000€£0°0 : 1P
85 00000000°T Ta
A 0'gee qL
35T 0079 R ,
3S0 000" 8L - Ma
[Ak:1 44 o . .
785 gTEQ9GE"E . 0¥ ) ' .
ZH GZ866T'Q SENATI ‘
2H 957 01%9 HMS . . .
4 8a
91 : SN _ : , ,
£1000 ) INIATOS = ZZZZZEE? ) [N I [, IO B RRPR P
89LEE , az w NTOVLWVWO R WO . ] WO~ ZZZZZ,,Eb
£s : ) , . . . oV @ W Ww
S6r/ut and wis aweoma L gRPRREITO w 0o U o I
Soh = P ooUWwowon ® : O N0 Wk TP N W
- 329ds RALSNT GV P WO dks e OO W0 LR ®E ®
00°LT sty O UIWY =1
82605002 . 29ed
sa9jawexed UCTITSTNDOV- — 24
1 _ omoodd : _ . HO
9 ONdX"E . - . ' . 12y 401
650-% 2TRd . WY : . , oo : : . H""O
mH&umE..m,_Hﬂm 'led JusIand . . QGOO@ OMHHH Qmﬂ.m mmo - d N.ﬂmm

HO



WC N [1=3 [ B L =] ¥U
o o w ol |olo ©
o = oo o} |~ =
1 [ [ O [l =
ndd 0°'T S°1T 0°2 S ¢ 0" ¢ g ¢ 0% Sy 0°5 §°9 09 g9 S L
] - ! 1 NP | ! ) ! | | i ! | U T _ |
s . . o
o

Compound SI-8

Q0T 24
] 20

ZH 0E°D a1

] €ss

ou Mam

2HW E£ZTOOET"00E 45
$BEIT 15
saejawered Butgsanold - zJ
HT SOETINN

ZHR 00D6TET 00E 1038
D9SN 05 TT T4
235 000000001 1a
a1 TIH
X 0 €62 %
285N L5789 aq
sssn gD BTIT Ma
952 e

29% §E£L9999°€ [
2H ZIE6ZT"0 SWATS
25 98Z7°LECP HME
z sa

0E SN
£1202 INIATOS
89LLE an
ogbz 2OUAIN
gretdysfus gy CHEOHd
HMSXSHY

00°6T QUTL
TEZT69 ~ojug

sr03emwIed UCTITETNBIY - ZJ

1 ONDORE
L. ONZXI
[ TN
SIIJPWRIN WIVY IUBIXND

8'T 6°T

0'¢ T'¢ ¢'¢ ¢ ¥T &°¢C

9 ¢

L <

r 6°¢

AP P

e

Wy

vy

ZHRO0E oFul ddng 660°% zTad

HO

HO

Page SI- 18



No parameters

Pelz 4.098 Supp Info 400wb

G96°T¢E
£C6° G¢E

LTEZ 0¥

(AN IS

/

Z70°SL
60L 9L EEE;;;;
80" LL

STE LL

L68"°
AR
6ET”
‘get
"8zt
‘8eT
LTL”
[ATAN
107"
0Le”
0c€e6”

897
¢0s
7L9

OH

\

ST
9¢T
8CT

8cT
62T
6CT
LET
IvT

N

OH

Compound SI-8

ppm

110

Page SI- 19

210

-10

90 80 70 60 50 40 30 .20 10

100

150 140 130 120

160

200 190 180 170

= 286"

Y

= 8LT"
= 66T"

/9%
Tee”
cve”

W

:

068"
voL”

=NEF6°

090"
—< 006"
—=< yre’



Page SI- 20

T—
w ~af s B P o Rlojo w
= O |1 o] (Xa] ~3 QWO “L
= =W o e wn Qi ~J
Ji=N | [\ [¥%) [e)} [8)] [so] e} ) =
mdd ¢ T 4 € ¥ S 9 L 8 0T
bl bonadel ! bbb | | | 1, v o e | N et | N | P
— — .3. _ —
H we ) T
e j i ) . ﬁ
<
7
—
e’
-
= wdd z"z €°¢ ¥°¢T ST 9°CT L'Z 8k 6°CT 0'¢t Tt |fE €€ ¥VE TE 9°C L'E 8¢
=y
=
-
]
]
0 o]
ZH 00°0 T
0 q5s
ot M
ZHW 0020050°00% S
89LZE 5
saejswered Butssanoxd - 34
ZHH £00%ZS0°00% TO4S
gp 00°0 Td
Pesn ferve oly Wwdd 0O'% T'% 2TV €V %% &% 9F L% 8% 6({% 09 1§ T'5 £°9 ¥'5 §°§
memmmaes T3 TANNVED ======g= [, oo b i becnieed s b bvencn b b bl oo b bcennnn v b L
098 00000000°T a S PER ST I AR T T UPRE WIPY TP " e L et i sk W " b koo TR R PR
5 90009 D vrashodimy i Sl Ay EWPRRTO PR WTRRTES IV PTR PR TREPEL I (o% Ay - P
J9F0 Q0°9 a
09sTL 000 8L T
¥20T LS
PP5 6TE095S5°C A4
ZH SZ956T°0 Jxcr-tad K
ZH 9SZ€°01V9 )
4 (43
144 N
€Todd LNIATQGS
89LZE &L
ogbz 20¥dT}d
DET/HT dND umug [ad7{=1e £-§
joeds HOYLSNL
E0°PT L A
. TITP0900C Ta3ga
sasjawered UCTITSINDOY - 44
T oNDOYd
¥ ONIYI IO
N

LEI-P ZT9d g

sIa33WeIRy BIBRJ JUDIIL,

quooy oFul ddns ¢e1 v zTed

18]

rNIOrQ

HO



EQ& o o._u om om ow om om.on om om oo.ﬁo.m.m omaomaowﬂom.ﬁom.ﬁ
s Levisenn, Lcisias Lt isiiioas Disiiess [T ISR Loasenss Lovisereo Levivonns Lo Lovioennes Leverin i 1 Leveirinss Lovieecn L

....“_.-J.._
7 Byl | _ _
p—
= | ! .
= _ | _ _
p— .
Q
=
.l__ :
-]
]
=]
0 ass
ou MaMm
ZHN TPL926S°00T as
89LZE Is
szajswexed Sutssel0ad — Zd N
ZHW Z009TS0 00% zods &
gp 08 BT €114 ©
ap 08°€T zrna o
2P 00°9- Z1d g
asn 00 08 adod
HT ZOON
9TZ3TeM 2o8dadn
s=szwm=ma 23 TENNYHD ======== __
ZHW ZBLIE09 00T Tods _
ap 00°0 T4
IS 00°9 1d
DET TOAN
z====== T3 "ANNYHD) ========
538 000Z0000°0 TP
288 000000£0°0 TP
@S 1000000870 1a
A 0'00€ L,
28T 009 qaa
380 0G0° 6T Ma
2 B6ZL ozt
935 86268PT T [k
ZH £€6700%°0 SEYATA
ZH GLL 9%292 HMS
z sa
A1 SN
£700D0 INIATOS RN WWW [ EEN BEN RN BN = P [
9£559 a1 W NUTYWWYWVRE W PWoo ﬂ P W W
. P D [ax} o0
ommﬁmuzosg. 50¥d7I0d W VIR WEd0 o oy Oy U1 @ . o ¢ b
€I/H1d c:90 aHAOUd = P R S R WK WU W S oW =
WOMISNT B R G s U W ado UM o o W W w
00°6T SWTL o Ul W o R
TETIEY Ll '
sa@jsumIRg UOTITSTUDIY - 73 IO
T ONDOYd ’
L oNaxE - KIEO
€ET-¥ 2T2d YN ,
saPjowRIRg RIed AUSIIND qugoy ojur ddng D¢€T €€T1°% 2T=d

HO



Sa@jPwWeIRd BIARI JTS.LAND

Mmooy s.EEou £0T % ZTI®d

| = | , =
o] wl Jo w e =] = (=]
~3 tal o XY ol |t O o
(&) [2)) e} w ol (@ [ | &)
| 23} o =) Q- ~J N
‘xdd 0 T 4 €, , ¥ S 9 L 8 6 0T
UV E N BTN BTN ISP ATEr T RN TSNS SN ey ey s N PP PR PS SR L.,
- - v
™
[ ]
s
p— .
L
[ udd . . . N . . . . . . . . . . . .
= L0 80 60 OT T'T 2°T €T ¥%'T &T 97 LT 8T 6°T 0°¢ 1T°C 2Z2°¢
— FPEPTTT FYPTITRTR FPTTTTTIT PTTITRE TP FICTTTTTES FETITETEN] PITTITITI FETRTR TP FYVUTTTIT PIVTTETETE Il TYNTT| INUTEITITY FIRTTTTT] FRRVETETE IRUETUERTE FURRRTEI CTVRFRTT &
=] _
=
o)
|
|
=]
€0 -t]
2E 0270 a7
0 gss
ou Mam
ZHH ¥LTO00B 66€ a5
89LTE Is
sxajauexed Huisssoold — g4
ZHH 886E€208°66¢ T038
gp 00" ¢€- : 118
e ar o WdA 7UE 9°¢ 8°¢C 0" € (A Ve 9" € 8¢ 0°7%
szzzss=s [ TANNVHD m======= | . 1 . 1 1 : ] . | . ] ; I . | . |-
288 00000000 T a " " "
q 0°00¢€ L TR
29s5n (09 aa o
pasn Q0% E8 Ma
8TT o4
088 TTQEZEL T [0} 4
ZH 6S6Z8T'0 SARdII
ZH P0Z 5668 HMS
4 sa
91 SN
£10ao LNEANTOS
29.L2¢ s
0ebz D0¥a1nd
oy augodd
HWOMESNT
00°6T SWTL
) TEZT69 Te3eq HO
gIaneueIeg WOTITSINboY - 2J
1 ONDOYd
4 oNdaxd
£0T-¥ ZTed TN IO

Page SI- 22



. [oa} =
o (%) W (=31}
wiio o o olm
RO ~J b S]]
U] [#2] [8%) o
‘ndd oT- 0 0T 0z og oy 0S 09 0L 08 06 00T 0Tt 0ZT 0ET 0%T 0sT 09T 0LT 08T

Compound SI-10

%)
I3
wudd LL 8L 6L 08 T8 Z8 €g @
P 00°9- z1d e ey e v e e vy ey e bl ey e b e s by e e b e b e e e b e e e e b Q
..oesu 00708 | _ . Zadaoa | . \ . e . e e e a
HT © EO0N
9TZITRM £O¥dado
me=====x Y THNNVHD sss=ssss
ZHW Z8LI9E0S 00T 1045
gp 0070 Tid
dasn 00°9 Td
DET ToNN
======== 13 ‘TTINNVYH) ===z==s=zo=
235 0007000070 ZTP
P95 000000E0°0 P
095 10000008 "0 Ta
A 0°00€ 611
basn 009 ad
oasn 050°6T Ma
89L2E 318
095 86TSBYT T [o)'4
2ZH £67007°0 5T¥ATI
ZH 6TL°9%Z9C HMS
z sa
34 SN
[ felute} INIATOS
9€559 ar
ogbdbz S04 I0d
JET/HT aND wug aRaoud
30ads ROMLENT -] ~ =33
0§ LY PWIL [#29 [¢2) ~3 ~J
. £1£09002 TanRg . . LI Io
sIajomeIed woTlTsSTInbOY - 74 w [» I L N}
R W oUW
1 OMOHE O W
g ONdXA

T ores egeq ueamD quoo¥ ozur ddnsg v0T'7 zT®d HO



wudd
R A
™
]
[ ]
]
—
ot
=
—
o
-
p——
—
—
|
=
(-
0 6]
ZH 00°0 a1
0 S gss
ou Mam
ZHR 00Z0050°00% a8
89L2E Is
srojauesed Futssavord - 4
ZHW €00¥250°00F 1048
e 0070 114
Jesn 0z re Td
HT ToNN
sz=z===== TJ TINNVHD ====s===
D85 00000000°T Ta
X 0°E62 L
Dasn P09 qa
oesn 000" 8L Ma
[ g 443 2
098 6TE095S°C ov
2ZH SZ9SET°0 STAId
ZH 9S2°0TP9 HMS
(4 sa
(33 SN
£1I2ao0 INAATOS
89LZE akn
0gbz 20¥dInd
OET/HT dNO wmg  dHE0YS
Joads WILSNT
[4 9] SWTEL
90£0800¢ Te3eq
saajauere uoritsinbov - zJ
1 ONDOYd
€ ONdXH
680-% Z1Pd NN

s1939WeIRd BIRJ JUBIAN]

HO

HO



© ... 9TZaTEs

0008 : 2adod
HT. . ZoNN
Zaddaado
=== z3. TANNVHD ==mam===
Z8LOE0S 00T . T0ds
0070 : 174
00°9 - . T4
14 TONN
=== 13 TANNYHD F=======
¥ 0002000070 ' A1
‘600000€0°0 -, IR
1000000870 1a
0-00¢ ot
008’ A
050°6T Ma
SEOYV ’ o od
B6ZS8TC T . oY
£6T007 0 C SH¥ara
6TL 9VESE : + HMS,
I 4 sa-
B 14 SN
£TDa0 © INIATOS
9£€59 . ak -
0ghdbz ooydind
DET/HT 4ND wwug - gHEOWd
Aneds WOELSNI
av"6 BWTT
90€£02002 Teneq |
sz@33weaed WoTlTSINERDY - 24
T ) ONDOYd
¥ ONdX3E
680~% ZT®d HRYN

- Compound SI-11

T00t9- : Z1a,

sx9joweled ®IRI JUSIIATY),

917" LE

92 6.~

o « 4w L 999
0o U Ut ~J e e b
Mk Wwnn g W W
B k= WU O DY W

AN AN AN

© qupoy ozur ddns 680° v zTed -

LYL LTT —
8L6"LTT
S62° 82T -

9LE"8CT
T6€ 8BZT

[4AAR AN

G0E6ZT
98 LET
SZT'8ET
€L0° 07T
_GTL OV

I
O

791 621

-Page SI-25 .

I
O



- o8] P =2}
W Wl (=3 =
s [ wlo s
[¥a} [FE] B oo o
1~ Wl =3 =] o
ndd 0 T 4 € 7 S 9 L 8 6 0T
__..__.______,___._
L gt ¥ # ﬁﬁll - at
=] )
|
1
et :
- i
p—
b
=
p—
=
- .
]
]
l ~
i
=
0 a2
ZH 00°'T . g1
0 ass
ou MaM
ZHR 00200507007 as
89LTE is
saojauexed SUTSsINOLI — T
ZHW ZBLYE0S 00T T04S
gp 00°0 Td
a8sn 009 Td
QET TonN
======== [F TINNYHD me====z=
o8s 1000000870 1qa
a1 0°00¢ 2L
Dasn )09 2a
oasn OG0 6T ma
9°09TS (24
D38 86258771 [0) 4
ZH £67007°0 SEIATL
ZH 6TL 97ZHE HMS
4 5a
SLE SN
£ToaD INEATOS
9€559 aL
oebdbz 2094104
E£T/BTANGUG : 90 QHEOHUD -
HOALSNT
00G°6T SWTY,
' TE2T69 Te3eq
saoneweted UOTATSTINDIY - T
1 ONDO¥4 HO
[4 ONdXE
TTT-v 2T®d NN

sIansuweIrg ele( JIUIIND

quogy oFur ddng TIT'¥ ZT®d

HO

Page SI- 26



ZHH

ZHH

wdd 0} 4 (047 09 08 00T 02T 09T 0s1 08T 00¢
| 1 ! | . { L ! . | | ] 1 . |
(u i h i u ! ! / o
N W (] g o
=]
]
1
7
p—
- L
=
p—
=
-
]
]
=
=
0 gs5s .
ou Mam
TVL9TES 00T 45
89LZ¢ Is
sxojouexed Bursseooid - Zd
ZO09TS0" 00V 2048
05" 7T €114
08°€T 214
00°9- 21d
0008 2adod
HI ZONN
9TZRTeM 7OdaadD
=== gJ TENNYHD ========
TRLOEOY " 00T T04S
00°0Q T
00°9 1d
DET TOON
=== T3 TJANNTHD ss======
00020000°0 2P’
000000800 TP
100000080 a
0°00¢ aL
00°9 aa
0507 6T Ma
97 09TS far's
86ESBYT T [e) 4
£€6%007 "0 SHIATI
6TL 9VEOT HMS
4 sa
‘GLE SN
€102 LNHATOS > PN RN RO N I e e
9ESSH as o Wa M~ NN W
ogbdbz 20¥4INd . e e oW ~
OLT/HT aND Wig  QHEONd = oNEe e o
Ioads ROYLSNT = L % B R |
L€ 8T _euTL Soe =
STEQ900T @3eq f HO
FxoqeueTed worliTsInbov - 24
T ONDOYL
£ ONaxa
0TT-¥ ZT®d TN HO

sIgjauRIed Bled IJUDBIIND

qupoy egur ddng 0TIT"¥ ZT®d

Page SI- 27



Tv
w <] jw w| |w =] (=][=] Ry
® o |- o o)) ofo| ~lo
i~ o] [ o |- O~y [N
~] | oo wl jun Ofwbdo e
dd 90 S0 0T ST 0z S¢ 0°¢€ S§¢ 0¥ ¥ 0SS S5 09 §9% 0L SL 08 98
| ! N 1 . | ] | - ] L ] | 1 ] i 1 L I ] ol ]
J‘!J‘Jﬁ N
&l
|
1
7
—
Wn
m wdd 6'0 0°T T°T 2°T €71 #°T ST 9°T LT 81 6T 0°¢C T°C T'C £°¢€ ¥°¢
Py .
= ~]
=
| E
=
/ : ©
) N
n
(]
0 6] Q
ZH 0£°0 a1 o
0 ass
ou Mam
ZHW 0020050 00¥ as
89LTE IS
saejauesed Hurssedoad - Td
ZHH €00%EZS0°00% T0ds
g0 000 id
fer=1-14% ‘ - . . - . . . - -
ar rob 9 7€ 9°¢ 8" € 0¥ T v Al 97 8% 0°S
mu=s===== [] TENNVHD ======== ] ] . ] . I . ! . l . | . ] , ] . ] .
035 00000000°T 1a
M 0°€6C s
Q9S00 9 aa
295T 000" 8L M
£ 216 s
095 GTEQ9SS T ov
ZH GZSS6T"0 ecetlandty
ZH 952 01%9 HMS
z sa
ve SN
£T0a0 ININTOS
89LTE aL
oebz 20¥d1Nd
ET/HTANGUWS : 90  (HE0Ed
HOMLSNI
0061 2wy,
.- 1€ZT89 “a3eQ
saenewered UOTITSTNDIY -~ ZJ HO
1 OND0ud 0l
£ ONdX™
§TT-¥ 2124 FWYN

saejPwexry TIRJ IUIIIND

qupoy eFurl ddng gTT° ¥ ZTed HO



981§
0E8° €T
¢TE 8L
199°¢2

ndd Aw o_._” o_N o_m o_¢ 0s 09 oL 08 06 00T 0TT 02T O0€T OFT O0OST 09T OLT 08T 06T 002
...... S FITETII PIVVITTUTE FUVITWIT FETETTTIT PRSI TTRTIN POV TIIUN IRTIINE TR NI FUTSTITNE FUOTTTON TR

S P | RNTRWERENE PRI MR | PETTTTTETS PPN L,

Compound SI-13

udd ot 8T 0¢ ﬁmm 44 9¢ 8¢ 0¢ (A3 i3 9¢ 8€ 0% (7
: I . | : ] . ! - | . | ! ; I . ! \ | . ! . I . l X l . l
+ + g it i 3
,: i I ,m_‘. i ,, ,, i _._ i f ; Al | LK I
18 _ aiiy v q I ! m [ f
P 00°0 z1d
P9ST 00'00T zaaona
130 ZonN
ZDUAA4D
SEz====== NM _H“szgu o=m=====
ZHH £007Z50°00% 1048
P 00°0 1d
oesn 0z %2 T
HI ToON _
====s=== 7 TINNVHD m=======
D®S 000Z0000°0 ZIP
098 000Q00E0" 0 P
235 00000000°T T
M 0°£62 AY
sasm 009 Ba
P3SN 000 8L ma
¥ 90% o0y
D9 6TE09SE° 2 oY :
ZH SZ9S6T 0 sgyqra o N B NN NN W w =
ZH 9SZ'0TP9 Mg W NI ) 82 WO W WY = () bo
N mg » - . a . . .
vz SN O = o N e S w o
€120 INZATOS W oA O \O = O N W = W i
89L2€ a on PR | oy ~1 U1 ot w W o))
06z 203N
ST/HTNOMMUG 90  (QHEOHL
HOYISNT
00'6T sty
TETI69 sneq
saejsweIRy UOTITSTINROY - zd
HO
T oMDOY¥d .
- . ONEXE ! _,NIO_.O
- ZT=ed
Y i eg Aue quooy ozul ddng OET 6TT ¥ zZTed

HO

Page-SI- 29



[ e
[ wlkjwiw| [k [Plo RO =
= ololw|oy] (e |ofp= [=1l=118 (=
[#8] wlwlann| |l o [=] =] F-N iy
wn wla|=|w] (W] [we I [=] BN} o
wdd ¢ T Z v S 9 L 8 6 0T
...... | S L | I el vy e b v e vy b e by v b e b e b e
j j.;g.‘ <1<.< . A
]
1
_.-.__.l._
—
o
=
= wdd 7T 91T 8'T 0'¢ AN vz 9°c 8°¢C 07t [N S 7R3
_H._.. . L X | ! . I . I ! \ [ . { _ L . ! . ! . I . !
=
— jﬁ\\éﬁ;\( l{ﬁ JZﬁn
= -
o
o
%)
(0]
0 0] >
ZH 00°0 a1 o
0 35
ou Mam
ZHR 0020050 00% as
89LTE s
szajswesed OSUTES2D0dd - Z4
ZHH £00%250°00% 1048
gp 00°0 T
295N N . 0y . - . - . - . - -
A ST A 9° ¢ 8¢ 0°7 A vy 97 87 0°S A e
======z== 13 TINNVHD ======== . ] ; | . ] . | . ] . i . | . | . J : ] . |
095 (Q0000000°T 1a
M QTE6T AL
Desn 00°9 aa
095N 000°8L Ma
1°8¢22 fard
o088 6TE£0965°C [e)'4
ZH §Z9G6T0 SENATA
ZH 992 0T%9 HMS
z sa
44 SN
£T000 INEATOS
89LZE an
0¢gbz H0¥dINd
DET/HT 4ND wwg  gHE0Nd
aneds HWAYISNT
Ly ST JWTY
. Z1%v0900¢2 ~e3eq
sIijaueired ﬂOﬂUAMﬁﬁUué - zg
T ONDOHd _ IO oL
€ ONAXE WHokn
29T-F ZT1°d HRYN

sIajgauweIrd iRl JUSIIND

quooy oFur ddng g91°'y ZT=d
HO



wdd 0T 0¢ 0t (007 09 09 0L 08 06 00T OTT O0ZT O€ET O0O%T 0ST 08T OLT 08T 06T 002 O0TZ
T T [T Lonssann | TN | T s | AT | PPN dics ] ) | | ! 1 | NI Lereviras | TP I Leveonana | PRV P
i iy v
. k) : H ol ; 1
]
1
_.-.__1._
-
p—
p—
=
o
=
L
=
]
]
="
0 as8s
ou Mam N
ZHW T¥L9€6S5°00T AS
89LTZE Is
sazjaueaed BUTSSINCII -~ 2d p
ZHR Z009TS0 00 z04s &
ap 05° 9T €114 P
g8 08° €T Z2T1d (o))
&P 00°9- 27a g
3sn 00°08 2adna
HT ZONN
9T123TeM TOMIAID
s====== g3 TINNTHD ssmm====
ZHH Z8L9£09°00T 1048
gp 00°0 11d
25T 0079 1d
DET TONN
z====== T3 TINNYHD ========
298 00020000°C Zip
335 000000E0°0 TP
395 TO000Q08' 0 1a
A 0700t qJL
BSTL 009 2a
31 080°6T Ma
8942t o9
J98 86ZG8FT T o
ZH £6%00%°0 SEUAIS
ZH 6TL9¥E92 HMS
Z sa
. T15 SN
€TOaD INIATOS PP RPN WWW ~] =1 =1 =1 ) [ [
9£559 ab WWwhwwunmnwwowuPE wWwaom P& oo~ o Lo
ocBabz DOVITAT  * Tttt e e e e e e e e I e
orr/m ap mis ammr G INBEULHRNOINSS EESRARCEN b
Joads HOEISNT VOO WMNPE -10MNWOO @ Wme W s -
£E"ST SWTL [#s] o0
T ZTP0900T “e3edq
IxojoweIed UCTATSINDBDY - gd Io
T oNDOud o0ty
4 ONAXH
z9T-¥% zied FWEN
sI¥jBueIRd B3R JUSIAND Q”._HOO¢ O%GH QQ..S.M UMH ZOT % ZTed ) Io



TL
58] v [ = o8] =[O0 L NS e
w o || = o olwlrlo I B L
o | O )] > [ws] v o] Lo ] (o)) > W
o)} = [O oo} o (=718 ] [se] Ty )|
udd 0 T z € L 8 6 0T
N B | | I R VT T T A U RS T S | VPO 1 L L A
B \/\/\ _

i
1
>
p—
o
=
"
=
=y
]
o]
]
=]
0 2
25 00T T
0 g4s
ou Mam
ZHW 0020050007 S
89LEE S
sxojowexed Surssaooad - g4
ZHWR TBLIEOD 00T TO48
e 00°'0 a4
S98n 0079 d
D€T xe]
======== TJ TANNYH) ===c==i=
oas 1000000870 a
A 0°00¢€ L
oesn 0079 a
o8sn 050767 a
89LeE 1S
D35 86268%2°T 't
ZH €6700%°0 SEYd1d
ZH 6TL 9VE8E g
4 sa
ZTs SN
€120 LNIATOS
9E£559 en)
oehdbz 20dd1Nd
ET/HTNOUWG: 90  (QHEQHd
HOYLSNI
00°6T SWTL
TECT69 Te@3eq
sasjswered wOTITSTNROY - 24
T ONDO¥d
Z ONdXH
ZLT-% ZT=24 SR

SAPFIWRIEJ BIRQ JIUDIIN)

60 0'T T°T ¢'T €T #'T €17 9T LT 8T 6T 0'¢ 1°¢C

wdd 9°0 L0 8°0
(ﬁ &_
g
g
wdd vz 9°¢ 87 0- ve 9 ¢ g8 ¢ 0°¥
1 | . | . ] . ] . . ] \ | . i 1 | —_
»
,m_zo HO
vNIo_‘O

qu-00% ©FuI ddng ZLT ¥ 2T12d

HO



wdd 0 0T 0% o€ 0% 0§ 09 0L 08 06 00T OTT 02T ©OfT OFPT OST 09T O0LT 08T
P TN TN | T [T Y PP TN | P Lovs v PP P DU | | | TN Lysseneesn | T | N T | T | PPN [T |

(¥ , __
| _
1
s
o LS
=
p—
[
[
—
=
o
=]
0 gss
ou Mam
ZHW TPLITES 001 45
g9LEE Is
sxojswexed fursseooxd - zJd %
ZHR Z0O09TSO0 00F 2048 n
gp 05Vl €114 ©
2P 08 €T Z17d >
gp 00°9- z1d o
3sn 00°08 zaand
HT Zo0N
91Z3TEM Zo9aaan
======= gF THNNVHD ==wm====
ZHW Z8L9€09°00T T03S
gp 00°0 1774
EEL ] 14
DET TONN
======= T3 TINNVHD =wm======
335 000Z0000°0 41
225 000000E0°0 TP
228 T0000008°0 1a
A 0°00¢% 3L
351 00°9 aa
I/ 0G0 6T Ma
T 6%9E o
)95 B6TSBYFL'T o4
ZH €6700% 0 fices (an s
ZH 6TL 9¥292 HMS
4 sa
- 089 SN :
£T0a2 INFATOS oA R B D W W un [P SR B BN | = e =
9£559 aL WNUWOWYR WY wn W Oy O~ [ M W ul
oebdbz DOUATING N . . . w w o ]
DET/HT AND WG QHEOMA \O UL 2 s T U < Lo 1 co k2 : N ;
B OO NO ~ oW O o ~3 e
joeds ROMLSNT B = 00 W s WD ] = UL o B W oy n (%)
2€°6T SUTL ~J U, Y o))
ZT%09002 Te3ed
ix9qoweIeg UQTATSTINDIY — 24
SN0 HO
T ONDOu&
v OMAXE _‘NIO.‘O
9LT-¥ 2184 AWEN
sIjaueieg eled JIUusIand X Q..QOO"W .HHOD_”.HmU m®H - ﬂ NH@@

HO



